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CHIEF MARKER'S / MODERATOR'S/ SUBJECT ANALYST’S REPORT FOR PUBLISHING
SUBJECT : 
MATHEMATICAL LITERACY 
  YEAR:2012

 PAPER: 1 
INTRODUCTORY COMMENTS (How the paper was received; Papers too long/short/  
                                                      balance)  
· The question paper was well received by candidates.
· Evidence from learner’s scripts show that the length of the paper was appropriate and most of learners have attempted all questions within the stipulated time.

·  Some of the questions were not attempted by candidates due to lack of sufficient knowledge.
· Various skills like applications, graphical interpretation, drawings and mathematical skills were covered. The entire content of the syllabus and examination guidelines was adequately covered
SECTION 1

(General overview of Learner Performance in the question paper as a whole)
· Candidates generally performed better than the previous year.
· The question paper was of the required standard and the average learners would perform well.
· The contexts in the question paper show a variety of questions and this offered the opportunity to learners to attempt questions.
SECTION 2

(Comments on candidates’ performance in the five individual sub questions (a) – (e) will be provided below. Comments will be provided for each question on a separate sheet). 
QUESTION 1

	(a) 
General comments on the performance of learners in the specific question. 
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	(b)    Reasons why the question was poorly answered. Specific examples, common errors  
         and misconceptions are indicated.
(c)    Suggestions for improvement in relation to teaching and learning.


Q. 1.1.1

· The use of a calculator to calculate the square root was a problem. Some candidates were unable to differentiate between a square and a square root.
· Candidates did not understand how to apply BODMAS under the square root.
SUGGESTIONS:

· Candidates must have their own calculators and familiarise themselves with how it operate. 
· Teachers should also emphasise the difference between a square and a square root.
Q. 1.1.2

· To write the decimal as a fraction was a challenge and some candidates did not simplify the fraction to its simplest form.
SUGGESTION: 
· Teachers must do revision on basic operations, i.e. expressing decimal as a fraction and vice versa.
Q1.1.3

· Some candidates struggled to convert the litres to millilitres. They did not know whether to divide or multiply by 1000 or 100.
SUGGESTIONS:
· Teachers should emphasise the basic study work on conversions.

· Different method on how to do conversions should be introduced to learners.

Q1.1.4

· Most candidates were able to calculate the total price but rounding off to the nearest cents was a challenge.
SUGGESTIONS

· More exercise on rounding off should be done.

· Teachers must emphasise rounding off to nearest cent when working with money.
Q1.1.5
· Candidates were unable to subtract arrival  time correctly.
SUGGESTION
· Teachers must show learners how to calculate time using a calculator.

Q1.1.6
· Candidates are not certain on when to multiply or divide when calculating currency.
SUGGESTIONS

· The method of cross multiplication, where learners can put same currency on the same side can be done.
Q1.1.7
· It is clear that language is a problem in this question. Candidates interpreted “most likely” as the way to emphasise that the 25th December is a Christmas day.
SUGGESTION
· Teachers should emphasise the meaning of the words “Certain, Most Likely and Impossible” on probabilities.
Q1.1.8
· Some candidates were unable to differentiate between the mean and median hence they determined the mean price instead of median.
SUGGESTION
· The difference between the median and mean should be clearly outlined.
Q1.2
·  Bar graph with horizontal bars was a challenge to candidates.
· Candidates could not read certain values in the bar graphs as they were not given.
SUGGESTION
· Teachers must teach learners that a horizontal bar graph and a vertical bar graph work the same.

· Teachers must also emphasise the appropriate scale to be used especially when there are no values in every line.
Q1.3.1 
· Candidates were unable to interpret cash slip.
· Some candidates did not multiply 3 by R14.95 to get the total amount of chocolate slab.
SUGGESTION

· Teachers must encourage learners to bring till slip when working with finances.

Q1.3.2
· Few candidates were not able to divide R97,65 by R13,95 to get the number of  the required bangles. 
SUGGESTION
· Teachers must encourage learners to bring till slip when working with finances.
Q1.3.3 

· Candidates struggled to calculate the amount of VAT paid. They were not aware that they have to calculate 14% of R21, 89 and subtract the value from R24,95.
SUGGESTIONS

· The difference between VAT included and VAT excluded should be emphasised and exercises should be done on how to calculate it.

Q1.3.4

· Candidates calculated 14% VAT which was already included in the total amount.
SUGGESTIONS

· The difference between VAT included and VAT excluded should be emphasised and exercises should be done on how to calculate it.
Q1.4.1
· Candidates calculated the amount of crude oil correctly but they rounded off the answer to two decimal places. They did not know the meaning of the comma (17,634 millions of tons) hence rounded off the answer to two decimal places.
· Some candidates did not indicate units as millions of tons.
SUGGESTION
· The meaning of the comma when working with millions and big numbers should be emphasised. Learners must also include the units in the final answer.

Q1.4.2
· Few candidates were not aware that they were supposed to add the amount of crude oil in 2010 and 2011 and thereafter choose the country which has the bigger amount of crude oil.
SUGGESTION
· The meaning of the word “most” should be clearly outlined and how can it be interpreted in the given context.
Q1.4.3
· Most of the candidates did not know which method to use to show the largest increase in the amount of crude oil. They were confused whether to add or subtract the amount in 2010 and 2011 to verify their answers.
SUGGESTIONS

· Interpretation of the table should be emphasised.

·  The method on how to calculate the country which has the largest increase in the amount of crude oil between 2010 and 2011 should be taught to learners.
	 (d) 
Other specific observations relating to responses of learners.      


· It seems as learners do not have their own calculators. They use calculators for examination only or borrow calculators that they are not familiar with.
	(e)
Any other comments useful to teachers, subject advisors, teacher development,  etc.


· Teacher development should be focused on Grade 10 teachers. Common fractions, conversions, currencies and data handling should be emphasised as they are also taught in the lower grades.

· Learner must be taught on how to use calculators correctly.
· Teachers need to assist learners on how to interpret the scale on different graphs given.
QUESTION 2
	(a) 
General comment on the performance of learners in the specific question. 
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	(b)    Reasons why the question was poorly answered. Specific examples, common errors 
         and misconceptions are indicated.

(c)    Suggestions for improvement in relation to teaching and learning.


Q. 2.1.1

· Candidates wrote their answer as 
[image: image3.wmf]24

8

which was incorrect, they might be misled by the given information where sectors were given as fractions of total.
SUGGESTION:

· Teachers must encourage learners to read answers directly from the diagram where possible.
Q. 2.1.2

· Candidates assumed that Didi just finished spinning the wheel, most candidates wrote grey as their answer because the arrow pointed in a grey spot.
SUGGESTION: 
· Teachers must emphasise the meaning of words like ATLEAST, MOST LIKELY, LEAST LIKELY and etc.
Q. 2.1.3 (a)

· Candidates substituted the radius by 30 cm instead of 60 cm.

· Calculator usage was a challenge to most candidates, other candidates substituted correctly but the final answer was incorrect.
SUGGESTIONS:

· Teachers must emphasise the difference between radius and diameter. 

· Teachers must encourage learners to use a calculator that they are familiar with during examination.

Q. 2.1.3 (b)

· The value of n was substituted incorrectly; most candidates substituted n by 1. They assumed that the number of sectors is 1 because they were supposed to calculate the area of ONE of the sectors of the wheel. 

SUGGESTIONS:

· Teachers must include more activities where learners can interpret the given information to enable learners to answer questions correctly.
· To emphasise the importance of including units when calculating areas.

Q. 2.2.1

· Candidates substituted the difference in time as 1,56 instead of (1,56 – 1,2) and 100% as 
[image: image4.wmf]100
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SUGGESTION:

· Candidates must be taught the meaning of mathematical words like sum, difference and product.
Q. 2.2.2

· Candidates substituted with values that were not given and not even within the context of the question.

· Other candidates converted  1,36 seconds to minutes, substitution was incorrect and the answer was not accurate. 

· Other candidates lost a mark for rounding off their answer as 38,1 instead of 38,01.

SUGGESTION:

· Teachers must assist candidates to round off to the nearest digit(s) by using a calculator.

Q. 2.3.1

· Candidates wrote 7:30 as the time that Mr Khoza left his home town; they were unable to attach meaning to the constant distance from the graph.

· Most candidates wrote the first distance on the graph which is 200km,.

· Other candidates gave Mr Nobi and Mr Khoza’s arrival time.

SUGGESTION:

· Teachers should explain time and distance graph when presenting in class.

Q. 2.3.2

· Candidates interpreted the vertical axis as distance to Pretoria not as distance from Pretoria, as such Mr Khoza was their answer.
SUGGESTION:

· Teachers need to explain more on time and distance graph when presenting graphs in class.

Q. 2.3.3

· Candidates wrote the arrival time of Mr Nobi which as 10:30
SUGGESTION:

· Teachers must emphasise the interpretation of the vertical axis and the horizontal axis.

Q. 2.3.4

· Most candidates could not interpret the scale used on the horizontal axis. Their answer was 10:35 which was incorrect.
SUGGESTION
· It is evident from the graph that not all the values were given and as a result teachers must emphasise the correct scale of the graph.

Q. 2.3.5

· Candidates had a problem with reading the scale of both axes correctly from the graph.

· If values are not given on any graph, candidates find it difficult to locate those values; as such they lose all the marks in that question.
SUGGESTION:

· To teach learners to interpret the scale of graphs.

Q. 2.4.1

· Candidates had a problem with the use of calculator, they were unable to key 1,20%.

· Rounding off the transaction amount to the nearest cents was a challenge to most candidates.
SUGGESTIONS:

· Teachers need to find resources in the media and develop questions from the resources that will assist learners in working with percentages. 

	 (d) 
Other specific observations relating to responses of learners.      


· Almost 88% of the candidates lost marks in 2.3.1 and as learners did not interpret the graph correctly and they did not attach meaning to the constant distance from the graph. This misconception caused candidates to perform extremely low.
· Candidates lost marks in 2.3.5 as they were asked questions in the points that were not labeled in the graph both on the vertical and horizontal axis.
	(e)
Any other comments useful to teachers, subject advisors, teacher development,  etc.


· Teacher development must focus on how to interpret different types of graphs and how to determine the correct scale. 
· If values are not given on any graph, candidates find it difficult to locate those values; as such they lose all the marks in that question.

· Rounding off to one decimal, two decimals or to the nearest cent is still a challenge to most learners.

QUESTION 3
	(a) 
General comment on the performance of learners in the specific question. 


[image: image5.png]%TTL

%L'68

%068

QUESTION 3

%18

%9'98

%S'0L

1]

%865

%L'89

%0 €V

|eloL €0

90UBISIP [BNIY 'E'E

uondaNQ €'E'E

SWEU 1991ST'E'E

20UIBRI PUDT'E'E

uondnsuo) 0118dT'T' €

Jonad Jo sauNIT'T’ e

uonealdaq z'T'€

BOOTTE





	(b)    Reasons why the question was poorly answered. Specific examples, common errors 
         and misconceptions are indicated.

(c)    Suggestions for improvement in relation to teaching and learning.


Q. 3.1.1

· Few candidates added R19 900 and R3 599,85 then multiplied by 60 which show that  the rule of dealing with the order of operation was a challenge.

SUGGESTION:

· Learners must be thought BODMAS rule and how to use their calculator properly.

Q. 3.1.2

· Candidates changed the formula from depreciation to appreciation.

· The rate of depreciation was compounded monthly.

· Other candidates substituted correctly, but calculator usage was a challenge.

· Candidates could not round off the amount to nearest R100.

· The rule of dealing with order of operation was still a challenge.
SUGGESTIONS:

· Teachers should make learners aware that they are not allowed to change the given formula.

· Learners must be taught how to use calculators correctly.

· Rounding off to the nearest 10, 100, 1000 must be emphasised in class.

Q. 3.2.1

· Candidates substituted the distance covered by 325 km from 3.2.2 as such they lost a mark.

· Candidates confused 100 km covered with 100 in the given formula.
SUGGESTION:

· Teachers need to ensure that learners know how to use any given formula.
Q. 3.2.2

· The given formula was not used to calculate petrol consumption.

· Substitution was done correctly but the final answer was rounded down to 40 litres.
SUGGESTION:

· Rounding off to two decimal must be emphasised in class.

Q. 3.3.1

· Candidates wrote B4 as the answer, they might be confused by the arrow which indicated the entrance to the parking area of the Van Riebeeck Sport Stadium which is in B4.
SUGGESTION:

· Teacher must emphasise that the pointing arrow indicates where the entrance is but not where the stadium is.
Q. 3.3.2

· Candidates named one street instead of two streets, and other candidates were penalised 1 mark for including incorrect streets.
SUGGESTION:

· Teachers should make learners aware that they should read instructions carefully to avoid penalty.
Q. 3.3.3

· Other candidates wrote left as the answer. 
SUGGESTION:

· Teachers to expose learners to different street maps and teach them how to read, interpret and extract important information.
Q. 3.3.4

· Candidates divided 8,9 cm by 0,3km
SUGGESTION:

· Teachers must explain how to use scales to calculate the actual distance.

	 (d) 
Other specific observations relating to responses of learners.      


· Almost 50% of the candidates lost marks in 3.1.2 and as they changed the formula of depreciation to appreciation.
	(e)
Any other comments useful to teachers, subject advisors, teacher development,  etc.


· Teacher development should focus on calculation of the depreciation value(s) of items or amount and street maps.

QUESTION 4
	(a) 
General comment on the performance of learners in the specific question. 
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	(b)    Reasons why the question was poorly answered. Specific examples, common errors 
         and misconceptions are indicated.

(c)    Suggestions for improvement in relation to teaching and learning.


Q. 4.1.1

· Some candidates did not including all 11 digits when arranging the litter size in ascending order.
· Other candidates wrote the data in descending other or using names of the dogs.
SUGGESTION:

· Teachers must emphasise that all the digits must be included when arranging data in ascending order.
· The difference between ascending and descending order should to be clearly outlined.

Q. 4.1.2

· Candidates wrote dog H because of seven female dogs and over looked the word ‘seven more females’.

SUGGESTION:

· Teachers to encourage learners to read instructions carefully.
Q. 4.1.3

· Candidates still confuses the mode and the median. 

· Other candidates lost all the marks because the data was not correctly arranged in ascending order in question 4.1.1

· They lost all the marks because they used the three data set to identify the mode.


SUGGESTIONS:

· The difference between mode and median should be emphasised.

· Teachers must include exercises that involve set of data.

Q. 4.1.4

· Candidates lost marks because they used the litter size or number of males to calculate the range.
· Candidates calculated the range of the combined three data set.

SUGGESTION:

· Teachers must include exercises that involve more than one set of data during classroom teaching.

Q. 4.1.5

· Candidates lost marks because simplification was written as 
[image: image7.wmf]66
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instead of
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.

· Other candidates lost all the marks because no calculation shown and the answer 

was not accurate.

SUGGESTION:

· Teachers must use data that include zero as a number when teaching LO4.

Q. 4.1.6

· Candidates wrote fraction as ratio i.e. 
[image: image9.wmf]4
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 instead of 10: 4

· The answer was not in simplest form.

SUGGESTION:

· Teachers must emphasise that fraction is not a ratio and the order of writing a ratio is very important.

Q. 4.1.7

· Candidates lost marks due to inconsistent shading of males and females.
SUGGESTION:

· Teachers need to emphasise the importance of shading when dealing with compound bar graph and explain how to use annexure.

Q. 4.2.1

· Candidates calculated 125% only not 125% of 105 cm.
SUGGESTION:

· Teachers need to give learners the opportunity to work and analyse given information in order to answer the questions.
Q. 4.2.2


· Candidates used different values within the context e.g. 
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which was incorrect. The method was incorrect and the answer was not accurate.


SUGGESTION:

· Teacher need to assist learners with conversions between units.

	 (d) 
Other specific observations relating to responses of learners.      


· Most of the candidates have drawn the correct compound bar graph but they have shaded it in many different colours without indication the key to the selected colours.
	(e)
Any other comments useful to teachers, subject advisors, teacher development,  etc.


· It is evident from the candidates scripts that ratio is the same as a fraction. As a result there should be a teacher development based on the ratios. 
QUESTION 5

	(a) 
General comment on the performance of learners in the specific question. 
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	(b)    Reasons why the question was poorly answered. Specific examples, common errors 
         and misconceptions are indicated.

(c)    Suggestions for improvement in relation to teaching and learning.


Q. 5.1.1

· Candidates counted only 6 windows.

SUGGESTION:

· More activities on plans must be given to learners.

Q. 5.1.2

· Candidates wrote different incorrect answer e.g. 1: 70, 1: 10 714, the method used was incorrect as such learners were not consistent accurate.

· Candidates could not link the length of the Northern wall of 70 mm with the dimension given.

· They could not interpret the question. 
SUGGESTION:

· More activities on scale interpretation must be given to learners in class.
Q. 5.1.3

· Candidates were confused by the question; they were not sure of what to calculate.

· Most candidates wrote 10 714 as the final answer, which was incorrect.

· Other candidates calculated the perimeter of the plan including the step section.
SUGGESTION:

· Teachers must note that learners are unable to interpret word like excluding, including otherwise they ignore those words when doing calculations.

Q. 5.1.4

· Candidates could not link percentages with area.

· When working with percentages, they do not know when to divide or multiply by 100.

· The word “less” confused candidates, most of them subtracted 72% from 39,54 
[image: image12.wmf]2
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SUGGESTION:

· Teachers must emphasise calculations on percentages and the use of 72% “less than” or  “more than” should be taken into consideration.

Q. 5.2.1

· Candidates were unable to key  
[image: image13.wmf]2
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 in their calculators.

· They were not sure of what to do with the 
[image: image14.wmf]2
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and the given ratio and as a result most of candidates lost marks in this question.
SUGGESTION:

· Teachers must include different levels of questions so that learners are assessed on different kind of questions.
Q. 5.2.2

· Other candidates cannot read information accurately, instead of substituting by 2,52 
[image: image15.wmf]2
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 they substituted by 
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· They could not round off the answer to the required decimals.
SUGGESTION:

· Teachers must emphasise that 2,52 
[image: image17.wmf]2
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is not the same as 
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Q. 5.2.3

· Candidates assumed that “s” from the given formula is 5.

· They failed to follow the correct order of operations.

· Rounding off to ONE decimal place was a challenge to most candidates.

· Other candidates removed the brackets from the formula
SUGGESTION:

· Teachers must ensure that learners are able to substitute into the given formula.

Q. 5.2.4


· Candidates were unable to substitute the value of s and they substituted s by 5.

· They were unable to work with unlike terms e.g. 1,3 + 2s = 3,3.

· They changed s from formula to square e.g. 
[image: image19.wmf]2
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= 3,86.

· They substituted as follows into the formula: 1,3 + 2 1,6 = 22,9 with  no multiplication sign between 2 and 1,6.
SUGGESTION:

· Teachers must ensure that learners are able to substitute correctly into the given formula.

	 (d) 
Other specific observations relating to responses of learners.      


· Almost 80% of the candidates lost marks in 5.1.2 due to incorrect scale interpretation.
· Question 5.2.1 was not well performed because of the wrong interpretation of the ratios.
· Candidates substituted correctly into the formula but final answer was incorrect because they cannot use calculator correctly. 

	(e)
Any other comments useful to teachers, subject advisors, teacher development,  etc.


· It is evident from the graph that Question 5 was not well answered and as a result Subject Advisors should ensure that workshops are conducted on space, shapes and measurements.
· The concept of ratios and proportion must be clearly explained to learners as it was also mentioned in question 4.
QUESTION 6

	(a) 
General comment on the performance of learners in the specific question. 
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	(b)    Reasons why the question was poorly answered. Specific examples, common errors 
         and misconceptions are indicated.

(c)    Suggestions for improvement in relation to teaching and learning.


Q. 6.1

· Candidates did not answer question 6.1 and 6.2, the numbering was not in the question but on the given information.

· They find it difficult to work with ratios.


SUGGESTION:

· Teachers must emphasise more on ratios and proportions.

Q. 6.2
· Candidates did not answer question 6.1 and 6.2, the numbering was not in the question but on the given information.

· They were unable to identify the MAXIMUM value and therefore they added 1,4 ; 2,27g  and 65 kg.

· Others added the two given values and multiplied by 65 kg.
SUGGESTION:

· Teachers must emphasise more on ratios and proportions.

Q. 6.3.1

· Candidates wrote the answer in hours and minutes which was incorrect, the answer must be in minutes only.
SUGGESTION:

· Teachers must encourage learners to give the answer in the required units.
Q. 6.3.2

· Candidates were confused with the two given formulas. 
· They substituted the two formulas differently as if they are not the same.
· They used any values from the table and inverted the substituted values.
SUGGESTION:

· Teachers must make learners aware of the words such as “change” and “difference” as these led to low performance in this question.
Q. 6.3.3

· Candidates lost marks because they joined the points to form a straight line graph, other points were not accurate as such the shape was not accurate.

· They lost marks because they drew a bar graph instead of line graph.
SUGGESTION:

· Teachers need to assist learners in the interpretation of scales in annexures and make learners aware that line graph is not necessarily a straight line graph.
Q. 6.4.1

· Candidates lost marks because the frequency was given as tallies or as fractions.

· Other candidates lost all the marks because the frequency was given as percentages.
SUGGESTION:
· Teachers should encourage learners to answer only the relevant questions, not to include tallies that were not asked.

Q. 6.4.2(a)

· Candidates subtracted 16% from 360% or 300%.
SUGGESTION:

· Teachers should encourage learners to answer only the relevant questions, as the question require the percentage.
Q. 6.4.2(b)

· Candidates wrote “Harmony” as the answer, they only considered the largest club not the second largest.
SUGGESTION:
· The word such as “second largest number ”  should be emphasised.
Q. 6.4.2(c)

· Candidates wrote 12% as the answer.

· Candidates were confused not knowing whether to use 300 or 360.
SUGGESTION:
· The concept of percentages needs to be explained to learners.
	 (d) 
Other specific observations relating to responses of learners.      


· Almost 50% of candidates did not answer question 6.1 and 6.2 because the numbering was not in the question but on the given information.

· 60% of candidates struggled to work with the two given formulas and this led to poor performance in finding the average pace.
	(e)
Any other comments useful to teachers, subject advisors, teacher development,  etc.


· Teachers must use diagram sheets in class in order for learners to get use to them.
SECTION 3

(a) 
GRAPH OF PROVINCIAL PERFORMANCE IN THE PAPER (summary per question)
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GENERAL COMMENTS

· Candidates did not perform well in question 5 which is based on space, shapes and measurements.
· This is evident from the graph that candidates experience challenges in attempting this questions. Teachers should focus on LO3.
(b)
GRAPHS TO COMPARE DISTRICTS' PERFORMANCES PER QUESTION
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(c)
GRAPH TO COMPARE OVERALL PERFORMANCE PER DISTRICT
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 COMMENTS ON PERFORMANCE OF DISTRICTS:
	QUESTIONS
	% IN THE PROVINCE
	DISTRICT S PERFORMANCE



	Q1
	58,9
	NMM performed 1,5%  better than the Provincial average

	Q2
	53,9
	Dr KK  performed  3,4%  better than the Provincial average

	Q3
	72,2
	All district performed well in this question

	Q4
	73,5
	All districts performed well in this question

	Q5
	45,5
	All district did not perform well in this question

	Q6
	64,4
	NMM and Dr KK performed better than the Provincial average

	Total 
	61
	NMM performed 2,4%  better than the Provincial average


(d)
DISTRIBUTION OF QUESTIONS IN TERMS OF COGNITIVE LEVELS, LEARNING OUTCOMES AND ASSESSMENT STANDARDS
	
	
	
	
	
	
	
	
	

	Question
	AS
	LO1
	LO2
	LO3
	LO4
	TL1
	TL2
	Topic

	1.1.1
	12.1.1
	2
	 
	 
	 
	2
	 
	Calculator skills

	1.1.2
	12.1.1
	2
	 
	 
	 
	2
	 
	Conversions

	1.1.3
	12.3.2
	 
	 
	2
	 
	 
	2
	Conversions

	1.1.4
	12.1.1
	2
	 
	 
	 
	2
	 
	Calculate price

	1.1.5
	12.3.2
	 
	 
	2
	 
	 
	2
	Calculate time

	1.1.6
	12.1.1
	2
	 
	 
	 
	 
	2
	Exchange rate

	1.1.7
	12.4.5
	 
	 
	 
	2
	 
	2
	Probability

	1.1.8
	12.4.3
	 
	 
	 
	2
	2
	 
	Median

	1.2
	12.4.4
	 
	 
	 
	3
	1
	2
	Read and calculate from graph

	1.3.1
	12.1.1
	2
	 
	 
	 
	2
	 
	Cost

	1.3.2
	12.1.1
	2
	 
	 
	 
	2
	 
	Calculate number

	1.3.3
	12.1.1
	2
	 
	 
	 
	2
	 
	VAT

	1.3.4
	12.1.1
	3
	 
	 
	 
	 
	3
	Price before VAT

	1.4.1
	12.2.1
	1
	 
	 
	1
	2
	 
	Identify and Calculate

	1.4.2
	12.2.1
	 
	 
	 
	2
	2
	 
	Read and compare

	1.4.3
	12.2.1
	 
	 
	 
	2
	2
	 
	Compare and determine

	TOTAL Question 1
	18
	0
	4
	12
	21
	13
	34

	2.1.1
	12.1.1
	2
	 
	 
	 
	2
	 
	Identify and Calculate

	2.1.2
	12.4.5
	 
	 
	 
	2
	 
	2
	Probability

	2.1.3(a)
	12.3.1
	 
	 
	2
	 
	2
	 
	Circumference

	2.1.3(b)
	12.3.1
	 
	 
	3
	 
	3
	 
	Area

	2.2.1
	12.1.1
	3
	 
	 
	 
	 
	3
	% increase

	2.2.2
	12.2.1
	 
	2
	 
	 
	2
	 
	Distance

	2.3.1
	12.2.3
	 
	2
	 
	 
	2
	 
	Read from table

	2.3.2
	12.2.3
	 
	1
	 
	 
	 
	1
	Read from table

	2.3.3
	12.2.3
	 
	2
	 
	 
	 
	2
	Read from table

	2.3.4
	12.2.3
	 
	2
	 
	 
	 
	2
	Read from table

	2.3.5
	12.2.3
	 
	2
	 
	 
	 
	2
	Read from table

	2.4.1
	12.2.1
	 
	3
	 
	 
	2
	1
	Service cost

	2.4.2
	12.2.3
	 
	3
	 
	 
	3
	 
	Service cost

	TOTAL Question 2
	5
	17
	5
	2
	16
	13
	29

	3.1.1
	12.1.3
	2
	 
	 
	 
	2
	 
	Hire purchase

	3.1.2
	12.1.3
	3
	 
	 
	 
	 
	3
	Compounded Interest

	3.2.1
	12.2.1
	 
	1
	 
	 
	1
	 
	Petrol consumption

	3.2.2
	12.2.1
	 
	2
	 
	 
	 
	2
	Petrol consumption

	3.3.1
	12.3.4
	 
	 
	2
	 
	 
	2
	Grid reference

	3.3.2
	12.3.4
	 
	 
	2
	 
	2
	 
	Street names

	3.3.3
	12.3.4
	 
	 
	2
	 
	2
	 
	Direction

	3.3.4
	12.3.3
	 
	 
	2
	 
	 
	2
	Distance

	TOTAL Question 3
	5
	3
	8
	0
	7
	9
	16

	4.1.1
	12.4.3
	 
	 
	 
	2
	2
	 
	Put in order

	4.1.2
	12.1.1/4
	1
	 
	 
	1
	2
	 
	Difference

	4.1.3
	12.4.3
	 
	 
	 
	2
	2
	 
	Mode

	4.1.4
	12.4.3
	 
	 
	 
	2
	 
	2
	Range

	4.1.5
	12.4.3
	 
	 
	 
	3
	 
	3
	Average

	4.1.6
	12.4.4
	1
	 
	 
	1
	2
	 
	Ratio

	4.1.7
	12.4.2
	 
	 
	 
	7
	 
	7
	Bar graph

	4.2.1
	12.3.1
	 
	 
	2
	 
	2
	 
	Percentage

	4.2.2
	12.3.2
	 
	 
	2
	 
	 
	2
	Height

	TOTAL Question 4
	2
	0
	4
	18
	10
	14
	               24

	5.1.1
	12.3.1
	 
	 
	1
	 
	1
	 
	Number of windows

	5.1.2
	12.3.1
	 
	 
	2
	 
	2
	 
	Scale

	5.1.3
	12.3.1
	 
	 
	2
	 
	2
	 
	Length

	5.1.4
	12.3.1
	 
	 
	3
	 
	 
	3
	Area

	5.2.1
	12.3.1
	 
	 
	3
	 
	 
	3
	Ratio

	5.2.2
	12.3.1
	 
	 
	2
	 
	 
	2
	Volume

	5.2.3
	12.3.1
	 
	 
	4
	 
	 
	4
	Area

	5.2.4
	12.2.1
	 
	2
	 
	 
	2
	 
	Length

	TOTAL Question 5
	0
	2
	17
	0
	7
	12
	19

	6.1
	12.1.1
	2
	 
	 
	 
	2
	 
	Distance

	6.2
	12.1.1
	3
	 
	 
	 
	 
	3
	Mass

	6.3.1
	12.2.3
	 
	1
	 
	 
	1
	 
	Time

	6.3.2
	12.2.3
	4
	 
	 
	 
	4
	 
	Formula

	6.3.3
	12.2.2
	 
	8
	 
	 
	8
	 
	Line graph

	6.4.1
	12.4.2
	 
	 
	 
	4
	4
	 
	Frequency

	6.4.2(a)
	12.4.2
	 
	 
	 
	2
	2
	 
	Percentage

	6.4.2(b)
	12.4.4
	 
	 
	 
	2
	2
	 
	Read from pie chart

	6.4.2(c)
	12.4.4
	 
	 
	 
	2
	2
	 
	Percentage

	TOTAL Question 6
	9
	9
	0
	10
	25
	3
	28

	TOTAL
	39
	31
	38
	42
	86
	64
	150

	%
	26.0
	20.7
	25.3
	28.0
	57.3
	42.7
	

	Exam guide
	30-45
	30-45
	30-45
	30-45
	83-98
	53-68
	

	%
	25%
	25%
	25%
	25%
	60%
	40%
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